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Question 1723 45

Description
undetermined coeff

1. Question Details

Solve the given differential equation by undetermined coefficients.

y'" = 2y' + 2y = eZX(cos(x) — 8 sin(x))

y(x) =
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2, Question Details

Solve the given initial-value problem.

2y" + 3y’ — 2y = 10x%2 — 8x — 13, y(0) = 0, y'(0) = O

y(x) =
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3. Question Details

Solve the given initial-value problem. (Assume @ # 7.)

de 2 B
—- + w°x = Fycos(yt), x(0) =0, x(0) =0
dt?

x(t) =
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4. Question Details ZilIDIffEQ9 4.4.045. [3894098]

Without solving, match a solution curve of y" + y = f(x) shown in the figure with one of the following functions.
‘F

AVAVES ‘.

fix) = 1
fix) = e™X
f(x) = e¥

f(x) = sin(2x)

f(ix) = ¥
sin(x)
f(x) = sin(x)

Briefly discuss your reasoning.

We see that the solution is the sum of a sinusoidal term and a term that
is sinusoidal with a different period.
is constant and simply translates the sinusoidal part vertically.
goes to @ as x = o and 0 as x — —oo.
goes to 0 as x — « and « as x — —ox,

oscillates with an amplitude that goes to @ as x — « and 0 as x —
—0Q0,
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5. Question Details

ZilIDIffEQO 4.4.046. [3894212]

Without solving, match a solution curve of y"" + y = f(x) shown in the figure with one of the following functions.

Vi

/\

Briefly discuss your reasoning.

Vv \x

fx) = 1
fix)=e™*
fix) = &

f(x) = sin(2x)

fix) =
sin(x)
f(x) = sin(x)

We see that the solution is the sum of a sinusoidal term and a term that

is sinusoidal with a different period.

is constant and simply translates the sinusoidal part vertically.

goestowas x = oand 0 as x — —o.

goesto 0 as x — « and « as x — —m.

oscillates with an amplitude that goes to @ as x — « and 0 as x —

—00,
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